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(20 points) 1. Solve the following system of ordinary differential equations
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(20 points) 2. Use the method of undetermined coefficients to obtain the general solutions of
' 1 -1 81'
(35)ee()
Solikon.:
A= <l I) @%(A—J\s = ;l 32 F

- (S =0 2 F =(e (
(A"Ll\)_gm _ ﬂo ; )%(z)” 5 =) B8 (__/')

D>

[ | 74
x (= (\@ ) x ) = [—-\)C




October 2009 Math 215/255 Midterm 1, Section 102 Page 4 of 6

(20 points) 3. Use the method of variation of parameters to obtain the general solutions of
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(40 points) 4. Use the method of Laplace transform to solve

y” +y= Icos(t) +.g(t) +t6(t —4), y(0)= O,yl(O) =0
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